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and Xl, X2, *, 2, . *

b. Use Big-M method to sti$,*$the following LPP:
Minimize Z:2x1* x2,:.

Subject to the cons'ttflints
3;ritxz: 3'
4xi +'3xz> 6,
y+2x2<4

..,X*.-'' 
X1' X2 ) Q (10 Marks)
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a. Explain the computational procedure of revised Simple4tnethiid in standard form. (10 Marks)

b. Apply revised Simplex method to solve the followingplifgbl€in:
Maximize Z:3x1+2x2* 54 'i

Subject to the constraints 1

x1 'f 2x2+ x3 3 430 "i''rrirlS ""''

3xr + Zxz< 460

xr:r 4xz< 420
and Xl, X2, x: > 0 "l'l , 

' (10 Marks)

a. Solve the following LPP by using dual6,irnp1ex method

Minimize Z= 2x1* xz* 3x:
Subject to the constraint

:.:::'xt-2xz*xr) O' 'tt,::

... 
'u,rir1,,, 

'ir"

2xt - xz* 13 !,$. " '

Xt-Xl'0',,,);",'t'
and xl, X2, x:2 0

b.
c,

a.

kilometers) are.,givcn in the followinguinatiix. How the cars should be assigned to the

customer to minimize the distance travelled. (10 Marks)

li!;":.':. B C D.r, E

Explain the role offi.uality theory in sensitivity anelysis.

Exolain orimal-duai reiationship with an example.Explain primal-ftg nship with an exasqfi.{e.
:

Solve the fqlluqdhg transportation problerfl"by using,

i) North-'S/€'btcbmer method ii) Vogel's approximation method'
.li;:,:,, n

,,,sum game ivJ ffixed strategy v) Pure strategy.
game by using ffioncept of dominance.

',,;.'.: B

Give a note onba$ig simulated annealing algorithm.
Write an outlinE:of a basic genetic algorithm.
Explain t4bu search algorithm.
Explain:bribfl y Metaheuris tics.

(10 Marks)
(05 Marks)
(05 Marks)
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7 ith reference theory define t$e following: i) Saddle point
' iii) Two

b. Solve the fol
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b.
car in each town namely (P, Q, R, S and T) distance between depots and towns (in

a,

b.
c.
d.

ii) Pay off matrix
(10 Marks)
(10 Marks)

(05 Marks)
(05 Marks)
(05 Marks)
(05 Marks)
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A car company has one iar at each of the 5 depots (A, B, C, D and E). A customer requires a

car in each town namely (P, Q, R, S and T) distance between depots and towns (in

..160 r30 r75 ,I90', 200
l'35 130 130 ,,,,}fl$ t75
140 110 155.. 170 r85

50 50 180 80 110

55 3,5 70 80 105

ins: i) Sadd

J 2 4 0
a
J 4 2 4

4 2 4 0

0 4 0 8


